K- K 19170556 JAAF

B HE )

g ¥

iCiR - 1BIREAE

549[o

NAGANO

=
%
&
7

3%
R

{EAMXPZE FRRioREFIERR

5C ik &

: BHlc(2019)F7H288 (H)

D EARREERAREIE L3RRS GRiigO— R 172060)
L AEATT - NEET - JEEAED - @1&7\25 pE_Eitne
. EATHBERER AAMXMARER RS

ERBHMEGE (KATKREHz NEHREH=
FEABMRE S JHEABMREH S

- AR =M /BIIFSE BH EE
C HRR O BX
: AE BE

moOSO RT3

B | XMz | Bm | BER | &2 [ BE || B | XMz | BE | JBERE | &8 | 2E

(m/s)[ ()] (%) (m/s)[ ()] (%)
09:00[ BEN | FA 1.2 130.9]55.0][13:00] &N [Fm=| 0.2 [ 30.9[49.0
10:00| msn [=AEEE| 1.3 [30.9( 52.0((14:00{ &N | B | 0.7 [ 31.5]48.0
11:00| BN [ = 0.9 130.4[52.0||15:00{ 5N | F&@ 0.6 [30.9]51.0
12:00 n [FAEE| 1.2 | 30.5[50.0]16:00| BN [ = 2.5 130.1]156.0

B C DR TR S NIZECER

K& (F5F) Fhig

oROEE| ISR BEH  |5urk ETar s P SPees DR
A1 BF | 110mH | B 14.96 e KBE(2) [EAREES 14.96
AEFh [wxe7| 110mH | SRES 14.96 oAt #iB(3) | XREIH | 15.40
K=Fr [zs7] 1500m | SRES 4,25.14 | /Il #1z=(3) | EFRHP | 4,30.36
AEFh [+x=7[ 1500m | RES 4,25.36 | #H FERER(3) [KAREEH 4,30.36
AeFh [nham7] 100m | RER 14.90 BK BN (4) WEANU-N 15.17
XEFh |hamF] 100m | & 15.09 EK BN (4) WEANY-N 15.17
AFh | BF [T R 54,97 /INR BEAR) [EPRmE| 54.10
AEFh [hexr| 100m | SRES 14.11 hie 2E(6) EPRARA] 14.17
BESRE| 27 | 100m | REs 12.00 |ZFE= HFERQ) |[EAEES| 12.01
A=H | ZF | 100m | 2B 12.00 |#FE= HFER(2) |[HARES| 12.70
A=Fh | WF | 100m | & 12.08 |#FE= HFER(2) |[HAEES| 12.70
A=H | ZF | 100m | 2B 12.37 Il 27516(2) |[#EARESs| 12.70
A=Fh | WF | 100m | & 12.47 il 27516(2) [#EAsE=s| 12.70
A=H | ZF | 100m | 2B 12.61 JREER) | 1s#s | 12.70
AFh | WF | 400m | RES 14.11 |[B¥ FHEQR)| &axEs | 58.54
AeFh [1#=74x100m | SRES 53.25 HE —##E(6) | 2HAC| 53.63

#RER 123B(6)
II\#K E8(6)
FieE FEI1E(6)




R —ER
(GR: KL%, 6T K25 1) 5 7

T’ 2m 3E am R R -
A/H i B B KRR i KA E i KA RE i 8% %/FEE i 8% %/FEE i BREAE i BRE&E i BRE&RE i 8%
07/28]BF +1. E B REIE S . 9615 = . . L22]5T5m Al .25 &% B (3) 25 1% B .
100m —R&-3475yt-Y" GR & -BHRE = NES m*ﬁa 12?.% ) m*ﬁa 12?.% z5 R INES BR-EARES ER-EARES
07/28 AR Q) 49.36 3xH 2(2) 50. 26 &% #BEE (3) 51.37 BBk Jn.Zﬁ(U 51.41 &% &% (2) 51.49 % #k&H (2) 51.57/8F %5 (2) 52.62
400m B EARES ER-afEE - EARES - EARES B EARES a2 tEES B EARES
07/28 BTEH B2 (2) 4,24.19 Fiy #A& (2) 4,25.31 £~ K nE'H_’,(Z) 4,27.25 INMR BB 4,27 41 IN#K 18K 4,39.10 8RE & (1) 4,39.21 de4t BEZzA (1) 4,39.35/ 77 BR (1) 4,42.06
1500m = TREE B EARES = BRLE INEE - bt A BB R N Jh A AR RE R B ENEE B EARES E- NS
07/28 -0.28R S K& (2) 14.96 =i ®ik (2) 15. 79| %R =8 (1) 16.02;%:8 #%k(2) 16.38 2% F%E(2) 16.65 iR FA(2) 20. 06
110mH B EARER Gr mh EARES m& EARES B ENEE B EARES BRIt
07/28 TE ﬁ—l-(” 1.85 R ﬂ#m.(” 1.75 % BHE) 1.65 BR &7 1.65
EE Bk B EARES a-HRLE a-BHiRE — & - £ ATBER
07/28 H &%=3) 6.60(-0.9) {Fik T8 (1) 6.56(-0.4) |I& =t (2) 6.56(-0.6) it;H #E (1) 6.30(-0.6) /NEMR =4k (28. 26 (+0.6) st JEFE (1) 6.15(-1.6) /MK B (2) 6.05(-0.1) L= #E+(1) 5.98(-1.2)
ENEHE m& INEE B EARES - EARES B NEE a-HRiEE B NS BREARES B EARES
07/28 ZH B 3) 10. 62 & BEEE (3) 10. 16 ##:2 Z=is (3) 9.72 Hix tRHF(1) 9.04 fRiF =4+ () 8.82
fanix E NS ER - EAERES - EAFRE - BHREE a- RS
07/28 ZH B 3) 28.17 &)1l &) 23.07 gRiIZ BEE(1) 18. 88
(bt E- IS =2 HiREs Bk mHES
07/28 VR OBEA Q) 54.97 =R 8B (3) 52.83/B90O %K (3) 48.68 ok K (1) 47.03 28 FE (2 43.31 H:E kK& (3) 41.72 R E HF(2) 36.57 &% k(1) 31.40
Y %&'%ﬁﬁm m&'ﬁr:ﬁitm B EATRES E-arEE =18 1ZEREH”=' =i 1ZER:Ff" 1) - BHREE B NS
07/28|h=# 5B ¥ 0.0/ EZE(2) 11.89| KW 1K (3) 12.14 51 BX Q) 12.22 53 ##Q) 12.281LAR —#E(2) 12.28 F#k B&(2) 12.371'8% BA(Q2) 12. 46| A3 KERS (2) 12. 63
100m ez BAAC g5 o . iAo i disA o chi - i ft A ch thes. S AAC ol yahe i cisA o
07/28 &HE &Mt 3) 54.96 =@ EAX Q) 56.47 5B £ (2) 56. 63 )il #0% (3) 57.95 28 FIK(3) 59.49 tEH R4 (3) 1,00.12
400m - hiA s - BFiR - A E AR - BFR - BFiR - BF iR
07/28 )il #0% (3) 4,25. 14 /%75 RRER(3) 4,25.36 fnmE KH(3) 4,33.10 HTF #&# (2) 4,40.76 thR FEX(2) 4,43.94/128 X @Q) 4,56.98 t/E EEIK(2) 4,58.09 &F fEX(1) 4,59.76
1500m - BF R GR - tEAREF GR P2 tEARES - RS - BFiR - BFR R NEER 2 - TRFEAF
07/28 o Hhig Q) 14.96| 5t &4 (2) 15.51/ KW 1K () 15. 89|/ ik B K (2) 17.36|5B8 &£ (2) 18.27 KA BLH1(2) 18.39 nnek @A (3) 19.253FE E(2) 21.13
110mH R R GR 2 - X AR RS rhEf - B HHIRAGAC - A ES - A ES hi-BEHIRP e NEER P
07/28 B #81%Q2) 1.55 /MR B (1) 1.30 LA #ER (1) 1.25
EE Bk - BFIR R NER P thEE - NER P
07/28 INFR ZBZE(2) 5.95(+2.4) F B fEE () 5.34(+0.3) |[F#% BEE(2) 5.09(+0.4) ILA —#8(2) 4.97(+1.0) KIRE B3 (1)4.81(0.0) #1:E FLEW(2) 4.77(+1.2) HaF BEFZ(2) 4.72(-3.2) &1L EF (2) 4.50(+0.2)
ENEHE -2 AAC -2 AAC -2 AAC - A E AR R - EARH -2 HAC EP—?—'EPJAEP - A ESR
07/28 B BEEQ) 8.02 M {HEE(2) 1.99 =% BAQ) 1.97 vk —RL(3) 7.70 k@ #=(2) 7.05 /h# EAER (2) 6.27 "N BZE Q) 5.85
fanix rhif - diiA g thif-BHIRP - RS ok R ALy i EARP HhEf- A dh rhEE - NEER
07/28 FE BAXQ) 49.67 HH #F1EQ2) 32.00 ik =% (2) 31.69 Tk FEE(2) 30. 63 kA #E(2) 25 11)/h#k —R (3) 18.89 TN FBE (3) 12.34
Y e )yhan- - NEER A - BFiR A i {EAR P R BEHIRP i EARP ok B AL rhEE - NEER P
07/28 INLBBF I Zfl (4) 3,28.69 =)Il BBEA(6) 3,35.62 FiR RiC(6) 3,36.45 HiR #FE @) 3,37.46 R & (4) 3,38.49 FE &1E4) 3,46.52 {FE #E(6) 3,47.96 Nk 2K () 3,48.95
1000m INGEAE RN Y=L INEE -SRI /NE - JKBHAC INEE IR INFE-BHEFRSC INFREDN INE-HEFRSC INFEERN Y=L
07/28 0.4 ¥0iE HE(6) 13. 88| i 125 (6) 15.20 | HH %hZ (5) 15. 81| X3 & (6) 17.42| 3 ##H 4) 20.42
80mH INFEERN Y=L INE-TRFE AT INSEERN Y=L INE-TEFEA T NE - ALEELE )T
07/28 ZAHAC 53.25 {E AL Y=L (A) 57. 89 T&F{E A 58.96 R/ 1,00. 21 [{EA N Y-L(B) 1,00. 52 {EAFE/IN 1,02. 30 /hi@g/In 1,05.97
4%x100mR HBE —iE(6) GR| FE &3 (5) INEK AT (B) FEl4 SE4 (6) IR 1 (5) =H 7'5(6) Es B50)
f&E 1238 (6) HIR B4 (5) R B4 (6) =l BEAX(6) mE RAEO) FE BE(6) H E=E6)
INK 353 (6) 1555 ETF () hiE 125 (6) FIE #= A (6) FEIL BRAE (6) ik ‘@-—I-(G) fEE7 1A (6)
FEE E1E6) IR %3% (6) B K (6) HiE H%(6) FH R 6) B[R AE1= (6) g Kih (6)
07/28| /N6 EBF A F{EE [E1E (6) 13. 41 388 KA (6) 13.75 /L E 3R (6) 13.83 HE —#E(6) &% A 6) IR %32 (6) 7%E T (6) fEt Sets (6)
100m - HAC INE - EAF XM INFE- G X FASC - EHAC INF - BEHR AP ER INSEAERN Y=L INF -G RN INFE- SR
07/28 {&E 2 6) 4.53(+1.8) RE HEKER(64.31(+2.7) $FiERF(6) 4.12(0.0) HHER (W) 4.08(+2.0) |fEE? 1A6) 3.90(+2.9) |[#HA k= (6) 3.69(+0.3) =ik K& (6) 3.50(-0.4) HF &5 (6) 3.39(+0.
ENE Bk -2 AAC - HAC NE - ALEELE )T NE-EERALEEE)TT INF NN /N2 - FKBHAC INE-TRFEAF INE-TRFEAF
07/28//N655F 2%IR 1BE () 14.35 RE & (5) 14.96 /I BEA (5) 15.03 %R 5 (5) = REOG) EHH BEH0G) BEH X% 0) Ik £5(O)
100m INFEERN Y=L INFEAER N Y=L INE-TRFE AT INFEATEN INFEATEN INFE - T FARSC INE - R BRI INF- R
07/28 miZ BHEG) 3.79(-0.7) /Mt 1&(5) 3.51(+1.5) |Eh FiBEX(5) 3.28(+0.5) |5 H RHE (5) 3.09(+0.2) &K KR (5) 2.91(+1.2) FEH KIEGL 47(+1.2) HRZE E(G) 2.16(+0.9)
ENEHE INGEAERN Y=L INFAERR -4 INFE- 3 T FASC INFEATEN INF - BEHR AR INE-TRFEA T INE-ERALEEE )T
07/28 N4 BF C5IEK BN @) 14.90 Zik £4) 15.21 il #2E @) 15,47 5553 EHh @) mlll KE @) HI5 =R @) =k (4) xHE 2@
100m INFEERN Y=L GR /M- AN Y=L INE-TRFEA T INFEEATEN INF -G RN NI EZE— NE-EKEE INFE- B EFARSC
07/28 BiE HIE @) 3.71(+0.2) /Mt FE (4) 3.53(-0.3) |H1iF HEFR @) 3.52(+1.1) iE8 K@ 3.22(-0.1) |BTE #f(4) 3.14(+0.4) L0 FEZ @) 3.04(+0.3) | L+ B&F @A) 2.97(-0.4) &)l Z@ 2.97(-0.
ENE Bk - EHAC INE-TEFEA T - EHAC INE-JIIEE— INEAERL -4 INE-TEFEA T M- ALEE LT INF NN




haBF

62 7H28H _ 10:40
REE 7H28H __ 15:00
700m
BT (KR) 12.27
K& GR) 15.17
FiE BBEE 348 0% + 8 OIERIEEBE o: 24 LIEEBE
[ 148] RE -0.5 [ 248] RZE -0.2
IE| b-Y| No. KE & RS ik fB= | IE L-» No. E & RS Bk mE
10 7] B50EK #mAW@ F 15.00q 1| 6 58 %%k 2@ INE 15.32 q
S MEVIY) HEAN Y-4 PNe-3 i $4h9 EE $ HEAN Y-4
2 5 B3I KEWM) 16.11 g | 2| 5 15/ RE@ 15.50 q
149 543 LB EVEREU L T8FHE R
3 6 | XFE B—@) M2 16.50 g 3 2 65| HEFH Bth(4) /hE 15.95 g
WY 4% HE F4SC M 4y ERFEND
4 3 86 KEM == 17.33 4 7] s B =R @) N 16.47 q
N5 EOY NEE— 93 Y3 NEE—
5 8 14 R R @) =2 17. 46 5 4 02 INFR IERHE (4) e 16. 95
N M T8FIEATE nry e R
6| 4 29F2 %2@ |IF 18. 96 6 3 98O FiHRW@) 17.94
MY 8% 2R AR/ 19" F Ut BRI
[ 3] RE -1.5
IE| b-Y| No. E £ RS Bk mE
1 3 38m@EsE@ INE 16.62 q
#409Y39 AR
20 1 120E%H B @) | F 16. 71
3/ o9 ZRAAC
3 4 61 EER KE@) 16. 74
M 97 847 EAFZME
40 5 30 fEE =@ INE 17.34
#4949 B3R AR/
5 6] O97T/NERR XK@ IhFE 17.50
4D 704 ERED
R B
BEE -0.5
IE| b-Y| No. KE £ RS Bk HE
11 7] B50BK #mAW@ F 14.90
Y NVELYYS EALN -4 RE#H
2 4 58| EE EW INE 15. 21
#40 EE $ HEAN Y-4
30 6 15 REW@) | NF 15. 47
SV UL T8FHE R
47 5 65 mEHF Eh@) T 15.95
M 4y ERFEND
5 9 83l KEWM) 16.09
1749 545 IR/
6 8 85 ZIB ER@A) 16.35
53 5 NEE—
70 2| 38 mEREEE (4) = 16.39
#4pY39 AR
8] 3] 2BEFzE E—@ hF 16. 84
WY U4 HEEAHSC




hoFF

Fi& 71H28H 10:50
R 1H28H 15:05
700m
12/ (KR) 12.27
KL% (GR) 13.93
FiE BBEE 348 0% + 8 OIERIEEBE o: 24 LIEEBE
[ 148] &E3E -2.6 [ 248] Mm@ -0.8
I b-2] No. K 4 -k 8k WEE | IE| V- No. -k &k RE
1 6 D52 F/KRE KIGB) | 15.13 g | | 1 1 63&Em BEG M 15.26 q
Tht a9k EALN -4 1739 Y9 AT
2 4 69 R 5®5) INE 15.52 q| | 2 4 18 &M BEHG) | hE 15.31 ¢
YING AN b EATEN 398 bk H S F4SC
3 2 oIk EHREG |NhEFE 15.80q| |3 5 8Ntk A (B) 15.40 ¢
Hb g va RN Ny YRy T8FEATF
4] 7 35:tME FHEWG) M 15.94 4] 3 26 E@H XFGB) 15.46 q
155" %39k BHREE/N I Vs 352N
5 5 109 H:EHA OG) INE 16.35 5/ 2 103/#HE mG) | 17.20
394 013" % AL kE £)57° 1749 y3 %R/
6| 8 1334EEE #FE®G) | 16. 44 6 6 113 2WL ME®G M 19.25
VIVIKVES | db NrvIath EALpE Y57
7 3 3T RKE AN =2 16.79
VL ETANA A HE®E
[ 3481 @ -0.8
I b-2] No. K 4 -k &k RE
1 5 41 FRE BE®O) INE 14.59 q
05 akq EALN -4
2 3 36 mFIE A (5) =2 16. 21
1F43194 A E®E
3 2 T2EE EBEG) | 16. 42
oy ab NS 2\
4 6 20 %M@ E(5) N 16. 63
45" h4Y HEF4SC
5 1 41418 K% (5) =2 16.70
h 44 T8FEAF
6| 4 34HE HEOG |NF 16.73
yS VK BHIREE/N
R B
AE -0.2
I V-] No. K 4 -k &k RE
1 6 41 %F @BEG 14.35
05 akq EALN -4
2| 7 B2FKE ®A(B) |hF 14.96
Tht a9tk EALN -4
3 9 8 /xRS (B) =2 15.03
'y YRy T8FEAF
4/ 3 69 ER 55 N 15.15
yIng ANl & UN
5 5 63 & 152z (5) INE 15.16
1939 Y & UN
6| 4 18/ZME BWMG) | 15.19
EVZ AR H S F£4SC
71 8 26 E@E XFGB) |hF 15.28
I Vs =352
8 2 oIk EHG |NFE 15. 48
V1IN IVEVK RN




N6 F

= TH288 1100
R 7H288 1510
700m
BT (KR) 12.27
REH (GR) 13.04
FiE BBEE 348 0% + 8 OIERIEEBE o: 24 LIEEBE
[ 1481 &ELE -0.8 [ 2481 R&LE -0.3
IE| b-Y| No. E & E& ik = | IE L-» No. KE £ E& Bk mE
1 6 118/ 5{k% BIE(6) /% 13.46 ¢ 1| 6 57 FE 5i&@®) /M 14.36 q
943 Y297 ZHAC 93 17 HEAN Y-4
2 3 624EA K (6) 1412 q 2| 2 84%8 =#6) INE 14.58 q
#)33 4 4Rf AT R YYD $3928 HIEUN
30 5 B9 REF RK#(®6) NFE 15.07a 3| 4 314E =K06) /I 14.70 q
113 19% R #19 Y394 IR E/N
4 2 10171 E4%5 (6) Iheg 15. 71 4 7 BIFFH =5 (6) I 15.66
4hmF 284 T8FHE A L34 fith NN
5 4 96 /NFHR @K®6) NFE 17. 64 5 5 104 #% FE@ (6) e 18.93
0 s BRI MY 34 R/
0 3 2 EFZE E®G)
WY 1Y HEEARSC R15
[ 3%4A] RLE +1.1
IE| b-Y| No. KE £ E& Bk mE
11 5 19/hb HE#R(6) /IF 13.71 q
W I HEEAHSC
2 3 123mB —#@6) | F 13.88 g
53 {9% 2 AAC
30 7 T1 g K6 15. 31
Ty v 5 4% N
4 4 e4FE KG) = 15. 36
EVZ M) EAR N
5 6 32 #W HlH®6) 15. 60
. L343 pqb IR 8/
R B
EE -0.1
IE| b-Y| No. E & E& Bk HE
1 4 118/5{E% BIE(6) /% 13. 41
943 297° 2 AAC
2 5 624A KN (6) 13.75
K33 4 4Ry AT R
30 7 19hW ¥R 13.83
W I HEEAHSC
4 6 123mE —#E®6) |F 14.09
53 {9% 2 AAC
5 2 311k =A®06) | NFE 14.36
#19 Y394 IR 8/
6 8 51 #F&E HE®G) | FE 14.39
93 17 HEAN Y-4
79 84|%E m#(6) INE 14. 61
P $D $3928 HIEUN
8 3 89N R#(6) 15.02
i3 19% S




hHE B F
717000m

2 /1T (KR) 2,52.94
KEH GR) 3,13.59
R B

IE No. K £ E& o I ]

11 10 44\ 1Ll EHE ) INE 3,28.69
Y95 14V 1y EALN -4

2 14 9=l BBEKG6) /M 3,35.62
7 tth R

3 3 80 =R =i (6) INE 3,36.45
7Y 9 AtJ)Y JKEHAC

4 4 18R FF @) =2 3,37.46
TV Yagh’ NS 2\

5 117 17TRE ]@) N 3,38.49
YIEV] »H S F4SC

6 8 9%IFE 1£1EW@) =2 3,46.52
79t 193 ERD

7 1 16 {3 #E(6) N 3,47.96
1M EAN H S F£4SC

8 6 55 Nk #AXG) INE 3,48.95
X AVIVEVLS AN -4

9 19 112 g H{Z@  /hE 3,50.30
15" 3 hFh mtkdLE 957

10 7 60| &+ BEK) N 3,50.37
ThAF 44 EAFEERM

11 15 108|355t B (5) =2 3,51.71
¥4 EtkdbiELY57°

12 12 67 5H &KAB) INE 3,55.13
194 59t & UN

13 1 27 ETE g2 (6) I 3,57.63
Ko M EVINY) FE/N

14 16 99 i K K (4) INE 3,57.95
3% 994 ERD

15 18 19 Fxig &(5) INE 4,08. 58
SR SED] UNEE N

16 9 12 X8 EnizBi (6 /M2 4,09. 91
7/ 19%/AF T8FEAFE

17 5 J&F BKW@ =2 4,10.72
B4 Y8 T8FIEAE

2 88 FAM E A (6) =2

YR8 Ak RN Ri5

[(RES

[1H28H

113:00 |




INFEEFF
E0mH

2 /0vE (KR) 11.72
K&# (GR) 12. 81
R
BE -0.4

IE b-Y| No. K 4 R4 iR HE

1 4 59 ¥IiE HIE (6) INE 13. 88
YH 49 Yagr EAN Y=L

2 5 11432 125F (6) INE 15.20
eV T&FIEAF

3 6 39| HH HnE (5) INE 15. 81
17 939 EALN Y=L

4 3 9/ KH EH6) INE 17.42
4 b T&FIEAF

5 7 105\ HH #% 4) INE 20. 42
17 M mdtkE L H37°

[(RES

[1H28H

19:00]




INFEE B F
4Xx700mR

AE#H (GR)

iR B

v R4

53. 63

No.

K

& -
1

9 ZAAC
Y $1-9-

123
117
119
118

%
HE —#E(6)
453 {9%
&E {238 (6)
ECAE )
MR i (6)
INAY Fa3
FIEE BB (6)
93 1193

6 AN U-L(A)
#H4 )-LA

52
41
43
57

FE 1&3(5)
At 2k
FHE 24 (5)
05 a9t
1EiE EF (5)
N F LN 4
R HE6)
M 97 17

57.89

4 TEFIEAE

FA-TUN I7 #9474

NGRS (5)
vy g
R E46)
4mF 194

iE 1E5F (6)
ThY 7 a9n
HH &5 (6)
73 9%

58. 96

T RN
1R 3vam

R+ Sei (6)
Thhs 9%

FIl BBEX(6)
Yh7 EfY

ER EA(6)
928" nbh

E H#H 6)
T 47 19%

,00. 21

2 {EANU-L(B)
#94 )-LB

49
56
46
39

INBR 1% (5)
anyy 1y
mE #HE0)
P37 a7’
FELL B4 (6)
09V Yagtq
FH B (5)
17 Y39

1,

00. 52

5 {EARE/N
#9ivan

64
n
68
70

=H ¥ (6)
EVZ N1
HE @E 6)
YR v
&%k 1531 (6)
#b9 29b

B #1= (6)
g LD

,02.30

8 NI
193v39

12
75
76
11

BEE #5060
B 1b

fH =F6)
L34 hth
&8 1 (6)
) Ny

g Kith (6)
ThY' 3 5 4%

,05.97

3 HEERSC
T#34SC

R 5

[(RES

[7TH28H

114:20 |




HEETF

FiE 1828H 12:15
KRB 1828H 14:55
700m
2 th 37 (KR) 10. 85
RE#H (GR) 11.34
Tk BBEE 64 0% + 8 VIEEIEEBE o 81 LIEEEE
[ 14] &% 0.4 [ 248] W% -1.6
IE LY No. E #& RE s mE B LY No. E #& RE 9 B
1 10 4126 BH 6 (2) e 12.24 q 1 6 4276 il #HEi(2) = 13.03
194 192k A T 29 fE
2 8 4151 E& A Q) e 12.37 q 2 5 41841l = (2) e 13.42
W9 hub R 1795 T4k ZHAC
3 6| 4292 4+t dwEE (1) e 13.16 3 4 4108 #liE 2K (2) e 13.58
$4L3 444 INEE PHE 7 199 B3R b
4 7 4106 #H #1%(2) e 13.37 4 1) 4288 G4 7 (1) e 13.70
#5354 hy1h B3R b Fhi yh¥ INEE
5 4 4264 B B (1)  cheg 13.47 5 7 4315 8K FK() 14.12
N 8y Y A E S IV EL) EEh
6 3 4185 HIiE AEM() 13.80 6 2 4104 B3 E(-(Q) G 14.19
PHE 4D 19% ZHAC 154 Lk B3R b
75 4176 5Kk KfE(1) 13.92 78 4111 &) BA) e 14.33
YR b 4% e AE S v diAch
8 9 4076 /kk GEPA(1) b 14,07 8 9 41730 EH) 2 14.40
wry bk B3R b v F 143 e AE S
9 2 4284 Kig #(1) |t 15. 91 3 4307 IR %2 g
Hyh eot INgEE R #5505 71k INgEE R x5
[ 34] & +1.0 [ 48] &% 0.2
IE LY No. E #& RE 5 mE B LY No. E % RE w5 e
1 5 4124/ B BK(2) =2 12.07 q 1 T 4128 B3 Bl (2) 2 12.47 q
Bhng 1J3hs diAch 14 diAch
2 4 4188 Ftx EE(2) e 12.13 q 2 3 4169 BB =2 (2) 2 12.84
bIs 7Yy BAAC 75" 3% #th EAE S
3 9 4277 LK —1E(2) e 12.17 q 3 6| 4275 &£E EiE2) e 12.88
¥IER PR F A E S B0 713 fE
4 2| 4084|1EH F|HAE(3) =2 12.78 4 5| 4280 & #AK (1) g 13.26
b 4 8444 B3R b Y 39 Vavh  NEEEGR
5 3| 4283 |#&R B (1) e 13. 11 5 9 4078 /N BEE (1) e 13. 41
740 W7 INEEEch A9F MEF B3R b
6 71 4152 HhiE B1Z(2) e 14.62 6 4 M44 Pl BEA) e 13.93
PHE 4D MY R THY HAb R
7 6| 4065 &£F fEX(1) =2 14.74 7 8| 4210/B8%% GF (1) 2 15.52
P51 198 T8FIER TF b¥) 19nf R
8 8 4172\3/K EFE) =2 14.91 2 4183|FE EH (3) s
$hEM 394 EAERS 7393 29AF 2 AAC Ri5
[ 5481 JAzE -0.3 [ 6481 JEsE 0.8
IE LY No. fRA s mE B LY No. E % RE w5 e
1 T 4187 /I #k 222 (2) e 11.90 g 1 7 M33 KA DHKEQA) rhig 12.13 q
wry Y5 ZAAC 4% 130 R
2 6 4175 KIT/R B3 (1) thz 12. 81 2 6| 4088 =@ EAQ) e 12.50
5 (503 THE e AE S 393 148 B3R b
3 3 AM49 BT ¥ (2) e 12.90 3 9 4330 §H# FFA) e 13. 60
By 19% R 434 544 vk S
4 2 4107 thigE KB Q) e 13.68 4 2 MIATEER H2 (1) e 14. 21
" 39 547 B3R b N b B EAE S
5 9 4265 &K BXA) e 13.84 5 4 4281 F Il &A1) =2 14. 21
A3 3984 A E S E347 135 INEE
6 8| 4287/ ILK #han(1) = 13.93 6 3 4110|/vék AR (2) e 14.93
TYEh 2%Y INEEER 'y ng A
7 5 41278 HE() = 14. 31 5 4186|/ML HIF (2) e
YF E diAch WY vasng ZHAC x5
8 4] 4073 K:ZE EE() e 14.86 8| 4296 F:E ;A (3) e
T4 137 B3R b 33347 v94 INEE &1




HEEF

700m

R B
B&E 0.0

JE| b-¥ | No. K 4 E& o I ]

1 41 4187 /Mf& ZBZE(2) =l 11.89
'y Y3 ZAAC

2 7 4133 KW K @3) rhig 12.14
9% 32 AL

3 6 4124 5 BA(Q2) thz 12.22
ghng Yans A g

4 9 4126 BH H#E Q) R 12.28
194 192F A g

5 8| 4277\ 1lLA —#E(2) rhig 12.28
TYEh BATF K ES

6 5 4188 F# EE(2) rhig 12.37
b1g™ 7YY ZAAC

71 3] 4151 =2 A Q) thZ 12. 46
Y Aub &g

8 2 A128 HHFF BEE(2) rhig 12. 63
14 vy fr5A dh




HEETF

FiE 1828H 10:00
KRB 1828H 16:00
400m
2 th 37 (KR) 50. 35
KE# (GR) 52.24
FiE BBEE 348 0% + 8 OIERIEEBE o: 24 LIEEBE
[ mﬂ] [ m]
u[s ~y | No. E % RE w5 e u[s -5 No. E #& RE 9 B
8 4122/4&E EM(3) e 55.86 q 3 4126 A Fh(2) 2 56.56 q
B Hh diAch 194 192k A ch
2 2| 4272\ 5R8 Eth(2) e 56.43 q 2 8| 4084|1EH ZHHAE (3) e 59.04 q
431 % Yavk A E S b 4 844 53R ch
3 3 4080 )il #n3%& (3) e 56.65 q 3 5 4273| KK BR¥I(2) e 59.17
4797 127 BiReh 1 5k EiMEL
4 6| 4373 /iREA RE(2) e 1,00. 84 4 2 4078 rIN EEE(1) =2 59. 43
#45 9397 EAEE A3 hEE 53R ch
5 7 4101 BH #1E(Q2) e 1,02.90 5 6| 4300 HIZF 15 A (2) e 59. 86
JODEVEN 53R ch TR INEE
6 5 4330 53 TA(1) chE 1,03.91 6 7 4276 chiL #Ei(2)  che 1,00.15
434 544 IRh FHEY 199 AL
41 4271\ RA ALK (2) e 7 4 4109 Fh/RE BEK(2) =2 1,00.77
i VoL, A E S x5 403 Y394 3R ch
[ 34]
& -2 No. E % RE 9 £
1 2| 4088/ =@ ;EAK(3) e 58.43 q
95 144 53R ch
2 5 4124/ B BK(2) e 58.63 q
Bhng 1394 diAch
3 4 4086 5 WAGQ) 58.85 q
U EVEDL] R
4 3 42791 3 (2) the 1,02.35
W47 Y29 AL
5 7 4158 @ BB () e 1,13.15
YR ED, R
6| 4087 2% #%m&A (3) e
v/ Y3979 53R ch x5
R
& -2 No. E #& RE w5 e
1 7 41224&E EM3) e 54.96
B3 diAch
5 118 53R ch
3 6| 4272 5B £t (2) e 56. 63
3% Yavy AL
4 5 4080 )il #13% (3) e 57.95
4797 127 BiRdh
5 3 4086 12 MAGQ) thE 59. 49
7993 YAl iR b
6 2| 4084 |1EH A (3) e 1,00.12
A 4 8444 53R ch
9 4124 &1 BRAX(2) e
Bhng 1Janh diAth B EE
4 4126 B Fh(2) e
194 1938 fiA x5




4
HEEF RE 7A28H__14.00]
717500m
B o (KR) 3.56.2
K&# (GR) 4, 30. 36
R
[ 148] [ 24a]
[ No. E % 5 £ w5 WE | E No. E % 5 £ -9 E i
1 6 4104 B3 B () h 5,18, 61 1 5 4080 )il FO¥(3) e 4,25 14
84 LY TR 1F40 DA LT BRe Ke
2 8 424812 BREAQ) i 5,19.40 2 12 4367 HH# RRE@Q) 425,36
Wi 19y 0y @Rt 734 35 0 EAEE Ke
3 7 M3 E0 EM() 5,19.45 3 10 4372 Mg KE@) 43310
b5 F T A E WM B EARE
4 3 4305 WE BHEQ) £ 5,22.33 4 3 40 ET BRQ  hE 4,40.76
A Y397k AN h 558 19% ERh
5 0 4302 Wi BE(2) i 5,23.57 5 13 4100 R A ()  H 44394
¥R 8y AN h 403 Y394 FiR h
6 13 4155 ® A1) e 5,24.36 6 11 4086 %88 MA @)  hz 4,56.98
0841 RS 7993 y3hh iR h
75 47T ATRE ALA() hE 5,25 14 74 4309 tE BmE(Q)  hz 4,58.09
54005 Trh pEAE YFr 147 N h
8 4 4278 KM = (2) i 5,32, 32 8 1 4065 2F EA() 4,59.76
“Us 43 #% o b3 199 TeF AT
0 10 4262 {£fE a2 5,42, 54 9 9 4150 thill BAE(2) 5,04, 15
#19 )39% #% o R 14% ERth
10 1 4171 8R%F &£ (2) e 5,44.23 10 8 4306 Mk &K (2) = 5, 06. 66
) R &S HI 195 NEEErh
11 11 4156 /NAE B|M(1) e 54488 | 11 2 4111 4N BA() 5, 06. 86
W8 ERh i b thsAh
12 12) 4073 K2 EE(1) = 6, 00. 98 12 6 4295 [EE [ (3) e 5,09. 28
4D Hi¥ iR h 51/ 443 N
13 2 4263 %@ EfF Q) B 6.24.88 | 13 7 4105 7@ BEWR(2) 5,16, 15
b5 352% #% o #1917 iR h
RALL—XR
JEfZ No. E % SEEE  FRE o] wE | M ER
14080 Il F1%(3) g BRt 4,25.14  Xx&% 2 1
2 4367 HF EREG)  hE  EAEES 42536 k2% | 2 2
3 4372 miE K% Q) s ERAEEH 43310 2 3
4 4149 BT #EF(2) hee Ednks 4,40.76 2 4
5 4109 R BEA (2) i HRG 4,43 04 2 5
6 4086 %5E A (3) i BRG 4,56 98 2 6
74309 +E | (2) EE T 45809 2 7
8 4065 2F X (1) i TRFEAE 45976 2 8
9 4150 il B (2) st ERgth 5. 0415 2 9
10 4306 REE %K (2) hee INEEER R 5, 06. 66 2 10
11 4111 &)1 BA (1) hi:  thidth 5. 06. 86 2 11
12] 4295 EE [F (3) heg INEERT 5,09. 28 2 12
13 4105 7558 BW (2) g ERG 516,15 2 13
14 4104 B3 B (2) m%  ERT 5 1861 1T
15 4248 17 BREA(2) he @R 5,19. 40 1 2
16 4173 890 =8 (1) i kR 519, 45 1 3
17| 4305 f[Ef B 4H(2) thes INEE R R 5,22.33 1 4
18 4302 1L BE (2) hi:  NEEED 523 57 1 5
19 4155 thi® ARt (1) hs:  2RYh 5 24,36 1 6
200 41771 RITRE fLA () hee EAEH 5,25.14 1 Ui
211 4278 fREA = (2) thes A EP 5,32.32 1 8
22| 4262 1k #E8(2) hee A EP 5,42.54 1 9
230 4171 8R%F &£ (2) heg EAEH 5,44.23 110
24| 4156 |/NZEHE 2 () ths Ednks 5, 44. 88 1 1
25 4073 KZ EiE () g Rt 6 00. 98 112
2 4263 %@ £47 () s fEEEt 6 24,88 113




2 (REE 7H288 [ 9:40]

17T0mH

2 o (KR) 14.19
KEH GR) 15. 40
R
[ 18] &Es&E 0.0 [ 248] ®EsE 0.0
JE| b-Y| No. K 4 E& ik = | IE L-» No. K 4 E& o I ]
1 6 4272 5B &t (2) rhig 18.27 1 4 430 HE #E|E Q) rhig 14. 96
19§ Yavy LA P IS VH AL AEH
2 4 4213 KK BHE(2) rhig 18.39 2 6 4148 Fith BN (2) rhig 15. 51
15 #hh LA 9% 1927 &R
3 5 4244 g @A (3) rhig 19.25 3 2 4133|KA KA rhig 15. 89
B9 b BHRs $9% 130 &R
4 2 4308 ZE E(2) thZ 21.13 4, 5 28/ /hFk E X (2) thz 17. 36
JhE hix INEEER T Yy Y94 B HIRAGAC
5 3 4211 FA Q) rhig 21.22 3| 4087 287 #x&E (3) rhig
hy b BHRs v/ Yah79 FiRth Ri5
AL LL—R
JEfL No. K £ e iE& sk (AE) "% M B
11 4130 &+ #hmiEQ) Y i L s 14.96 (0.0) K&% 21
2 4148 Fith BN (2) thig &g 15.51 (0. 0) 2 2
3 4133 KA LKA FE ERS 15.89 (0.0) 23
4 28/ EK(2) thig 3 IRAAC 17.36 (0.0) 2 4
5 4272 5B &£t (2) = @EES 18.27 (0.0) 1 1
6] 4273 KK BEHI(2) thig HE RS 18.39 (0. 0) 1 2
7 4244 hngk AN (3) thig BIHRdg 19. 25 (0. 0) 1 3
8| 4308 ixMA = (2) g INEEER T 21.13(0.0) 1 4
9 A211|%FA B () . BHRG 21.22 (0.0) 1. 56




FF

%1% TH28H 11:45
R B T1H28H 14:40
700m
237 (KR) 10. 15
KEH (GR) 10. 86
Tk BBEE 54 0% + 8 VIEEIEEBE o 81 LIEEEE
[ Hkﬂ] EE +1.3 _ . [ Zﬂ] A& +0.8
IIE -y| No. K 4 ___FiR% &k RE lI[E -y| No. K 4 RA &k RE
2 2803 ?q;;‘ij ﬁ%ié 2) El&ﬁtf‘z 10.97 g 2/ 2815 1?5;55 fl.%ﬁﬂ) Egﬁ 11.10 g
19y v BE 149 ¥ LS
2 8 2809 zEj;‘E#(S) E;‘E 11. 36 2 4 2805 Vﬂz f;’& (2) %&t 11.12 g
Y% 2 By #) %t EARES
3] 6] 2847 Eﬁf —4&%(1) E;E 11.65 3 6 28137 Eth(2) .—,g 11.44
WENL i) Ny Y vk EARES
4] 3 1574 ﬁ\:&ﬁ.ﬁg) ?ﬁm 11.95 41 7 2821 7EE EEH Q) %té 11.80
7Y &b AR 7R D H{xr INES
5 41 2822 thet EF (1) .—ﬁfx___ 12.09 5 8 1518 /NEH = (2) B 11.83
Thh3 A9 INES VS MVEVIYS RIS
6 5 101 X:&Z m©BE —h% ‘ 14. 40 6 3 2824/KM EI(N) B 12.00
7337 T2 REI-2 9F b INES
7) 1585 #1E =i () B 70 5 1612|8B X&H Q) =& 12. 61
YD Jay  BFES Ri5 Y 5 4R AFES
[ 348] n;z +4.2 [ 448] FREE +1.8
g b=y K 4 ___FiR% &k {#%E |IE L-» | No. K 4 RA &k RE
1 7 1707 R &= = 10.96 q | | 1 7 25 NIE Eh —fi& 10.73 ¢
N 84y Y INEEE 9FE Yty M7ryt-y KXE#H
20 2 28103%;% %f{(f‘)) E]&;‘EH" 11.14q| | 2 6 2843 |J.|I7:| j;ﬁg) Eff&t 11.26
WV L AV s
3] 8| 2808 EJE% ;ﬁ%(f‘)) }%’F:;EH“ 11.23 3] 8| 1615 i%ﬁl;ﬂ 25352) %ﬁ 11.29
) s L Jhe EE ANHEE
4] 6 2812 E;% ﬁﬁgﬁm }%’F:;EH“ 11.54 4 2 2848 e%m E;JZK(D Egﬁ 11.44
“‘/5 VIVEVK EE_I%_ t é'f' Y %lﬁl
5/ 5 2827 ﬁ;% ﬁ#m r?,'té 11.94 5 5 1712 9;J|| %3((2) %té 11.74
7 INES Y WWILEVL] IMNEE
6 3 1537 Al HA(N) B 12. 31 6 4 2845|FR =H(1) B 11.75
4% % 12:1‘ FiRIEE YN 5 Bt EARES
704 102@E% E —H& ‘ 12.47 70 3 1575/@& EE(1) = 12.80
ath Y1y -2 WY BV HRE=
[ 54A] n;z +2.4
g b=y K 4 RA 'Eii/ﬁ*%
1 7 1693 XxHF BAKQ B 0.85 q
T4 y9s BHRS
2] 3 2823t ME () Bk 11.23
Yy 97 MEHR INES
3| 8 2806|=ix HE() A 11.25
SN EARES
4 2 2809 B Bz (1) Bk 11.35
k3" Y29/ zk EARES
5 6 2842 =2 B =& 11.38
HH T 40 EARES
6| 4 1588|FH#F HE(N) B 11.78
194 197 AFES
70 5 100[4£% &= —fig 12.95
#/ a9y EEHW4-2
R B
BAE +1.1
JE[ v-v] No. K 4 RA &k RE
1 6 25 NIE Et —fi& 10.73
9FE Y v M7ryt-y KE#H
20 4] 1693 k#H AAKQ =K 10. 96
4 y9s BHRS
3 5 1707][® =) =155 11.13
N 54 IMNEE
41 7 2803 iz X () B 11.19
9y b EARES
5 8 2805 {£%F F£4(2) 53 11.22
4/ %% EARES
6 1) 2823t ME () Bk 11.25
Yy 97 MEHR INES
70 2 2808|HE BEQG) &K 11.25
IRy h4t4 EARES
8| 3 2810|%&Z® BETL(Q) @& 11.26
D Y9aL EARES
9 9 2815/FEk AE() @BERK 11.36
1y V% EARES




FF

FE TR28H _ [10:20
R 7A28H _ 16:05
400m
12 27 (KR) 46. 54
K&# (GR) 48. 06
FiE BBEE 448 0% + 8 OIERIEEBE o: 24 LIEEBE
[ 158] [ 2481
IE =Y No. E % RE 8 mE | [JE v No. E % RE 9 B
1 3 2809 4k & (3) 1 49.28 q 1 3 2808 HE BE(G) Sk 50.75 g
BY9E 19 EAEES IR DAt EARES
2 2 1683k KB () Bk 53.70 2 1 2805 4% &90Q) B 51.82 q
934 54% ERAS 4/ % EARES
3 7 15168R8 BEQ Bk 55. 74 36 161128 #MXQ) Bk 53.80
MYy { BRILS 7433 4=t ERAS
4 5 2814|fL 817 (1) =15 55.77 4 8 161228 K&EQ) B 57.17
THY M1F EAEES b 8 AR ERAS
5 8 1587|@&M & (1) B 1,02.28 5 2 1586|/hEIL BE () B 57.43
#95 19%4 ERAS 137 M4 ERAS
4 1610 /hiE EBH Q) B 6 5| 2826/ BE (1) 53 1,00. 94
0 9% ERAS x5 A% EFh INGEE
6 2824 KA B3 (1) 53 7 4 1584 =R XK# (1) B 1,02.73
495 b INEE x5 Whh 4 4% ERAS
[ 3%8] [ 48]
IE =Y No. E % RE 8 m% | [JE v No. E % RE w5 HE
1 6 1615/FA Z(2) =15 50.66 q 1 6| 1706 A == (3) =15 50.30 q
yha kb # ERAS w34 74 INGEE
2 8 1798 #% #h#E (2) B 51.95q 2 3 2849 fB% Wz () =k 50.86 q
LY LtEES k3" Y29/ 2k EARES
3 5 2812/8:& %K ((2) 53 53.07 q 3 5 1845k N—ER Q) =& 53.10
Y547 Yauv EAEES #19 294709 LtEZEAES
4 2 1616 B2 WAQ) B 55. 74 4 4 1582851 BE() B 56. 41
T4 yuh ERAS 1421 543 ERAS
5 3 2848/%g0 AKX (1) 53 57.54 5 2 1581|8REA & (1) B 58. 68
Er° % v48 EAEES 145 1964 ERAS
6 72825 #tE K&E) 53 59.09 8 1588 A# MHEN) B
Nt 5 4% INES 194 193 ERAS %15
4 1585\ M2 =t (1) B 7 2850 £ EAAR(1) 53
PHE D Y3ty ERES x5 Y 1% EAEES &1
R
IE LY No. E % RE w5 e
1 6 2809 44K & (3) 15 49. 36
BY7E 19 EARES
2 71 1615 202 s 50. 26
yha kb # ERAS
3 5 2808/ EE BEE(3) 53 51.37
Y D44 EARES
4 9 2849 B Bz (1) B 51. 41
k3" Y29/ ak EARES
5 8 2805 %% #1902 B 51.49
¥/ % EARES
6 3 1798 % %k (2) Bk 51.57
) 2% tEEs
7 2| 28128 5K () 53 52.62
Y547 Yauv EARES
4] 1706|382 22 (3) 53
A3 % 74 INES x5




FF

17T0mH

237 (KR) 13.84
KEH (GR) 14.96
R B
AE -0.2
JE[ v-v] No. K & RA ek EE
1 20 2802 (R KBH(2) &k 14.96
149" 3 443 EARES -
20 6 2882=2 B =& 15.79
Sl EARES
3| 8 2845|FR E=H() AR 16.02
YN 5 hty EARES
4 70 1611%:8 #HXQ2) B 16. 38
THIV H=% ANHEE
5/ 4 2841|2F% FE(Q) @Bk 16.65
) TS5 EARES
6 3 1519 BR &2 &= 20. 06
014y FRIEE
5 132 E+iE K — &
10" 3% £n% FFiRALY37 Ri5

[(RES

[7TH28H

1 9:50]




FF

175600m

1247 (KR) 3,38.49
KL% (GR) 4,04.63
R B

[ No. E % -k &k RE

1] 12 1571 BTE B&(2) =15 4,24.19
4 vay FRES

2 9] 2844FHh RE Q) B 4,25.31
7 9% EARES

3] 4] 1517[E4K Bt (2) Bk 4,27.25
HE vy FRIEE

4] 3] 127/ BEK INE 4,21. 41
Yy vans ALE A ERBE

50 11 128[/h#k #8K INE 4,39.10
an ¥y a4 ALAE A ERBE

6 6/ 1581/8RA ®H (1) =& 4,39.21
115 1944 AFES

70 5 281144 B2 (1) B 4,39.35
443 Y19/2% EARES

8 1] 2826 iR BE(1) =15 4,42.06
4hF Eth INES

9 10 1576[/MLME EBXR(1) Bk 4,57.32
Yy 39y FHRES

10 2 1534 #8 ma () &% 4,58. 86
EoyAVEEVIN} FRIE

11 71670 KiF E3F (1) B8 5,15.14
yh Yagn EARES

120 13 1669 H+jE 2(1) &% 5,25.54
1039 744 EARES

8 1577 /h#k K1) &R

'y Y FHRES Ri5

[(RES

1B 28H

[13:50 |




haBF

il [RE% 7H288 [ 9:00]
=
ENE ek
B/ (KR) 5.47
KEH GR) 3.717
R
JE sz BB Fon - K % E® -1- -2- -3- -4~ -5- -6- ERE #E
1 6 126 &5 H1E @) Iheg 3.29 3.30 3.7 3.7
Ay 1931° 2 HAC +1.3 +0.5 +0.2 +0.2
2 5 T hith FE @) Ihe 3.38 2.85 3.53 3.53
My Yana’ TFIEA T +1.0 +0.8 -0.3 -0.3
3 7 125 HZE R (4) Ihep 3.52 X X 3.52
1 49 19b 2 AAC +1.1 +1.1
4 8 87 &8 NHE ) Iheg 3.17 3.22 X 3.22
74FA" 291" JIEE—/ +1.1 -0.1 -0.1
5 4 54 BTH # 4) Iheg 3.14 3.08 X 3.14
YFIOAY%F EAN -4 +0.4 +0.3 +0.4
6 1 50 #s @) Ihe X 3.04 2.74 3.04
hF khh T8FEAFE +0. 3 +0.4 +0.3
7 2 10| £+ #5F5 (4) Ihe 2.97 2.97 X 2.97
9Ih7 NbE mAtdbkE 537 -0.4 +0. 1 -0.4
8 9 14/ E @) IhEg 2.53 X 2.97 2.97
1907 Yy NN +0. 1 -0.2 -0.2
9 3 116 BERZE # @) Ihe 2.24 X 2.25 2.25
4R (9% EsALpE L Y57 +0.8 +0. 4 +0. 4




hoFF

GREE [7TH28H ] 9:00]
=
ENE ek
2 /1T (KR) 5.47
KEH GR) 4.14
R
IEfz S Fon - K % e -1- -2- -3- -4- -5- -6- E0E% =
1 7 56 B:Z & (5) Iheg 3.76 3.79 3.62 3.79
NSVEEUEN EAN U-4 +0.4 -0.7 +0. 1 -0.7
2 6 491/ #k 1% (5) Iheg X 3.48 3.51 3.51
w19 EALN -4 +1.1 +1.5 +1.5
3 5 21 @A FiEE (5) Ihe 3.28 3.06 3.17 3.28
41h ) S FEHSC +0.5 +0.8 +1.2 +0.5
4 4 66 5 H 1854 (5) Iheg 3.09 X 2.817 3.09
134 Yavah EAFEN +0.2 +1.6 +0.2
5 1 33 & HRGB) Ihe 2.71 2.91 2.90 2.91
han vt BHIREE/ND +0.9 +1.2 0.0 +1.2
6 2 13| RiEH &85 (5) Ihe 2.39 2.47 2.39 2.47
bya4Yy  antd TFIEA T +1.3 +1.2 +0.7 +1.2
1 3 115 5 RiE B ((5) Ihe 2.16 X 2.04 2.16
4034 7541 mAtdbkE 937 +0.9 +0.9 +0.9




N6 F

GREE [7H28H __[10:30]
=
ENE ek
2 /1T (KR) 5.47
KEH GR) 4.75
R B
IEfz Sk Fon - K 4 e -1- -2- -3- -4- -b- -6- 08k =
1 13 117/4&@E £ (6) Iheg 4.51 4.53 4.53 4.53
LR ) 2 AAC -1.8 +1.8 +1.1 +1.8
20 12 124 &% &KER (6) Iheg 3.93 3.95 4. 31 4. 31
w7 amsng 2 AAC -1.4 | +2.2 +2.7 +2.7
33 11 #FiERT®6) =2 X 4.12 X 4.12
Yuhdagnd EsALpE LS5 0.0 0.0
4 6 106 | HHE R (6) Ihe 4.07 4.08 X 4.08
17 Yavtq mAtdbkE 937 +1.0 +2.0 +2.0
5 11 76 FE¥F 1M (6) Iheg 3.7 3.90 3.78 3.90
%) W NN -2.7 | +2.9 -0.7 +2.9
6 2 81 A Kz (6) Ihe 3.63 3.57 3.69 3.69
v o JKBHAC +1.2 +0.4 +0.3 +0.3
7 8 1:&% K& (6) Ihe 3.50 3.49 3.42 3. 50
WY sy TFIEA T -0.4 +3.5 +0.8 -0.4
8 10 2 B KK (6) Ihe 3.25 3.38 3.39 3.39
7Y anv TFIEA T -1.0 | +2.3 +0.9 +0.9
9 9 68 1@k &3l (6) Iheg 3.33 3.16 2.93 3.33
VAVEEVI EAFEN -1.7 +2. 1 -1.2 -1.7
10 5 9415 K% (6) Ihe 3.29 3.08 3.06 3.29
95 4 44 AR +0.5 +1.5 -1.2 +0.5
11 4 nNEE @EEG6) Iheg 2.09 3.22 2.97 3.22
TR nvh EAFEN -0.2 +0. 6 -2.2 +0. 6
12 1 82\)Il% Eth(6) IhE 3.19 2.87 X 3.19
h74 tHy JKBAAC -0.3 +0.4 -0.3
13 7 T3/t BB A (6) = X 2.92 2.91 2.92
M £3b NN +1.5 -0.4 +1.5




fhZ 87 B 7R28EH __11.40]

ZE & Bk

B ei#T (KR) 1.97
RE#(GR) 1.76
R
IERL SE ton - E % FE% 1m20 1m25 1m30] 1m35] 1m40 1m45] 1m50  1m55] 1m60 B8R | BE
11 4] 4106 #H# 81%(2) HE R R
2 1 4282 i’Lﬁf; ’%15'7(1) ﬁﬁqj " > L w b
I =
]’\W*E;T /J\éjirb 0 10 |0 |XXX 1.30
33 4287 LA #HER (1) thes
FeER 29 INSEEh X0 |0 XXX 1.25
20 4289 LD wEEE (1) HE "I
W F 3% INEER S




fhZ 87 B TH28E __13.30]

ENE Bk

12 chr (KR) 6.90
K&% GR) 6.23
R B
IBEGL] B3 o - K % g4 -1- -2- -3- -4~ -5- —6- T8k =
10 22 4187 /h# 2EZE(2) rhig X 5.95 X - X 5.48 5.95
wmwyy Yj £ AAC +2.4 -1.2 +2.4
2 16 4183 & 1@ Q) thZ X X 5.33 X 5.34 | 2.25 5.34
FIVY Ay £ AAC -0.5 +0.3  -1.1 +0.3
3 20 4188 Bk BEE(Q) thZ 5.09 | 4.52 | 4.93 - 4.48 | 4.73 5.09
bIET TYY S AAC +0.4 | +1.3 | +1.3 +1.0 | -2.4 +0. 4
4 17 4277 WKk —1E(2) thz 4.97 | 4.70 X - 4.93 | 4.80 4.97
TYEF DR F LA +1.0  -0.1 -0.3 | -1.7 +1.0
5 12 M175 KITJ® B3 (1) |dheg 450 | 4.50 | 4.81 4.26 | 4.46 | 4.47 4. 81
44515 b EAES -0.1 +0.5 0.0 -0.5] -0.7] -0.3 0.0
6 18| 4185 #iE FLEL(2) thZ 4.71 | 4.49 433 466 459 | 4.27 4.71
H 49 19% ZAAC +1.2  -0.1 +1.3 | +1.6  +0.7 | -1.1 +1.2
7 15 4128 ¥ K& (2) thz 3.34 X 4.63 - 4.59 | 4.72 4.72
14 M A +0.2 0.0 -0.9 | -3.2 -3.2
8 9 42714 2l EE Q) thz X 4.37  3.31 4.32 | 450 | 4.33 4.50
Ny Yo LA +0.5 | +0.1 +1.9 | +0.2 | -2.3 +0.2
9 11| 4127 xB FE() thz 4.09 X 4.43 | 4.38 | 4.37 X 4.43
YFY E A g 0.0 +0. 1 +0.7 | +1.7 +0. 1
100 13| 4107 &g K= (2) hZ X 3.97 | 4.18 4.18
Thy 3y 4% iRt +0. 1 +0.5 +0.5
11 3 4147 FR 8#KX() thZ 3.97 | 3.79 | 3.99 3.99
N 95 huh Ak +1.1 -0.1 -0.3 -0.3
120 8] 172 IxK EFEQ) thz X 3.98 | 3.98 3.98
#hEh 291 EAES -1.1 +0.2 -1.1
13 10 4285 +B AK(1) rhig X 3.98 3.94 3.98
YFY 4% INEEER T +1.5 | +1.1 +1.5
14 5| 4144 Bl EHE®) thZ 3.93  3.31 3.56 3.93
TAYY f4b Ak +0. 1 +0. 1 +0.2 +0. 1
15 4 4176 5K K¥EQ) thz 3.76 | 3.76 | 3.59 3.76
VIR A 4% EAES +1.1 -0.1 +0.2 +1.1
16 7 4152 H:E &E& Q) thZ 3.22 | 2.713 X 3.22
TH 49 b4 ERE 0.2  -2.1 -0.2
17 1 4174 FE8 1% (1) rhig X 2. 66 X 2.66
N b Bt EAES -1.2 -1.2
6/ 4263/%@A FT2) & X X X
S M VAES LA
19 4278 #RE & (2) e X X X
115 45 LA
20 4312 Tk HAM) thZ Ri5
TN 9 b FlRe
14 4184 L M (2) thZ Ri5
397 b £ RAAC
21| 4296 /@2 AR (3) thZ Ri5
3349 Y94 INEEERT




HEETF

}z 5 000/( GRIB [7H28H  9:30]
AL 1R (5. 000kg)
Bepgi (KR) 12.96
KL (GR) 10. 81
R
JILEE{L EEW%Z ‘fﬂzé . ;EEEE (34; e g4 7—18—7 8—20—1 7—39—8 8—40—2 —f— 7—69—9 Esﬁoiz &%
2l 5 447 Zg?égﬁ@ igp 7.60 7.99 7.21 7.08 7.48 6.81 7.99
3 3 481 gg %1(2) E;wp 7.20 7.97 6.97 6.48 6.33 5.64 7.97
41 6 4139 fj“q:;‘?_’rgm ﬁgqj x 7.17 7.23 7.52 7.27 7.70 7.70
5 4 4170%3\;%%;){ &qu X x 6.43 6.72 6.43 7.05 7.05
6 2 4”0311):;*');3*3(2) Eé;ﬂ: 6.24 X 6.11 5.83 6.16 6.27 6.27
2 S : : . : . .
7 ; ;‘?22 %’%{% E;:Zj {I}%W 5.20 4.94 582 585 475 523 5.85 -
=L EAVELLY] 2 HAC




47:?"5'? B TH28E __13.00]

= ch (KR) 66. 44
2% (GR) 57. 29
R B
JILEE]z EEW%Z fjrlz\gé _— ELE‘;( (3% - B4 49—16—7 —02— —(;"i— —(;1— —05— —:— 4;93?617 &%
26 4101 Tﬁ}#h Zﬁ%@) g;g;ﬁq: 29.53 0 0 0 0 132.00 32.00
3 4 4169 Z&i‘:’éiﬂl}g% (2) ﬁgqj 0 3073 0 0 0 31. 69 31. 69
4 5| 4247 ?r’;lz#ﬁ?:féﬁ 2) Eéiqj 30.63 0 0 0 X X 30. 63
5 2 4170 ?;;’E %7(2) Egﬂw x 0 121.74 2511 0 0 25.11
6 1 4139 316:;75'@5}’@(3) E;W 1889 0 0 0 0 0 18.89
s . X 1234 X 0 0 0 | 12.34




E_F R 7H288 _ [11:40]
el
=
E 5Bk
855 (R) 21
K&# (GR) 1.90
R
B S o - E % HB&  [1n50/1n5 160 1m65 170/ 175 1nB0 nd5 Tm90. | 528 (&%
14 2846 T @A () B L L L
) i ‘ég,v ”;#F o 1&?&%% 0 0 0 XX0 XXX 1.85
)E DIl 1 _lél_ )Jé
il Z']}le) g%;{{jt%_ 0 0 0 0 0 XX0 XXX 1.75
31 1539 # & o
s Bt 0 0 0 |0 | 1.65
= AT ~ —
5 53 AT 0 [0 XXX 18
2 T6l6hE BAQ)  BE - mEuL
09 98 EHEE




FF GREE [TH28H _ [10:30]
ENE ek
=
2% (KR) 7.94
KEH GR) 6. 91
R
IEfz S Fon - K % e -1- -2- -3- -4- -5- -6- E0E% =
1 9 1707 R’ HR=@) 53 X 6. 44 X X 6.60 X 6. 60
N 4497y INEE -0.8 +1.0 +0.5 +0.8 -0.9 +1.9 -0.9
2 7 2815 {7 =ES (1) 53 6. 46 6.18 4.07 X 6.56 X 6. 56
1M Y% EARES +0.5 -2.9 +0.7 +0.7 -0.4 +1.7 -0.4
3 8 2813|[® 1Eth (2) 53 X 6.24 X 6.11 6.10 6.56 6. 56
N Y avy EARES -0.6 -1.7 +0.2 +0.9 -1.8 -0.6 -0.6
4 4 28235t &E (1) =153 6.30 6.24 6.19 6.23 X 6. 26 6. 30
YY" 97 MEHA INEE -0.6 +0. 1 +1.0 +0. 1 -0.7 +2.0 -0.6
5 6 1518//NEHE =t (2) =153 6.05 6.22 6.26 6.21 X X 6. 26
VS MELIYS FRILtS -0.1 -1.7 +0.6 +1.6 -1.0 +1.4 +0. 6
6 5| 2822|ch#4t EE() 53 6.09 6.15 5.88 X 5. 66 - 6.15
wISEVY INEE -0.1 -1.6 +0.7 +1.4 -0.4 -1.6
7 1) 2804 /i B9 (2) 53 5.12 6.05 - 5.26 - - 6. 05
N Y 193r EARES +0.7 | -0.1 +0.3 | +0.5 -0.1
8 3| 2846/ t=F @@ (1) 53 5.70 5.81 5.98 5.96 5.85 5.86 5.98
¥ B b EARES +0. 1 +0.9 -1.2 +1.4 +0.5 +0. 6 -1.2
9 2 1584|551 K&t (1) o 57 5.62 5.89 5.1 5.89
4h% 4 4% AFEAS 0.0 | +0.2 -1.2 +0. 2




FF B 7A28E__11.30]
B KR 14.59
K2 (GR) 10. 85
R
Nz B Fon - E % ) TR o o= | 3= | —A- | 5= | 6= | mE | {EE
175 1709 5@ B Q) Bk
W;.ggg* 'J\i%% X 10.20 10.62 9.74 9.72 10.24 10.62
2 4 1630 % HE(3) Bk
}\W;'Jm" B wan 10161006 9941014 9.43 9.61 1016
33 163252 =E Q) Bk
”;{% 15297: 1E§%%ﬁ% 911 9.02 X X X 972 972
4 1 1537 miB 5% (1) Bk
il 1532%* 1*;;;() E’fjt% 8.78 9.04 7.65 8.31 7.75 7.88 9.04
% = @G =15
g NG i 768 X 814 8.34 8.69 88 882




FF

GRIB [7TB28H___10:15]
B 45.21
REH 32.17
R

JEGL S Fon - K % B4 A= == | 3= | 4 | 5 | -6 | =g B=E
13 1709 5@ 54 (3) =1

7y %M s X X X 12817 X X | 28.17
20 2 1578#&)I &) =%
3 11532%}{?”;7@() ﬁfrﬁ% 23.07 0 0 0 X 0 | 23.07

z BE(1 =R

yreciion rms 18.88| 0 0 0 0 0 | 18.88




FF

RE [7TH28H  14:30]
1Y & (0. 800kg)
LR 67. 34
KEH 54.10
R
“Eﬁ? EK?ZZ T1I5\6; INR [555&(3% ol R _(;_ 54_20_5 _(f_ _(;1_ _05_ 54_69_7 5543?7 jci’f;
2 11 1531 ggﬁﬁ%}?(a) g;ﬁf‘ﬁ% 59 83 0 0 0 X 0 52.83
S0 D AA®  BE - we x ot x X e
4 7 1583 J’E’;gkf ’;‘é%ﬂ) %éq:ﬁﬁ% 0 4586 0 0 47.03 X 47.03
5 10 2841 ?Exé%agg(Z) ggﬂﬂ% 0 0 38.79 0 43.31 0 43.31
6 8 1631 755/%7%‘1‘2(3) %QEEE 4172 0 0 0 0 0 41.72
7 6 1516 g%q %);(2) %QJ?%@@% 36.23 0 0 0 136.57 0 36.57
1473 5 208 o BRLE ' ' '
e R
y1h7 439 HiRMEE ' '
05 180 WED g%ﬂit% 2650 X | 0 26.50
14" 39 k0% BiRALH57




I-7" 20 4EF
700m

R
BE -1.5
IE L-Y| No. E & R4 i WE
1 1 53| FKE &3 (4) INEE 15. 64
7ht nbb EAN Y=L
2 2 51 Fik =X @) INEE 16.13
$4M 29574 EAN -4
1-7°"2/h6FF
700m
R
JEE
IE L-Y| No. E & R4 iR wE
1 1 24/ db4F 224 (6) INE 14.50
545 7H4 »HEFEHSC

CRE [TR288 ___[10:41]
B [7B28H___11.01]




1-7° 2IhEEF
8 O0mH

R
A& -0.4
JE| V-V No. K 4 E& iR RE
1 2 8B EFE) 16. 66
37 79k EAL -4

[(RES

[1H28H

1 9:01]




1-7"2IhNEEF
7000m

R B
IE No. K £ RA ek EE
1 1 46 L BRAE (6)  hFE 3,27.85
0PV Ya9eq EALN -4
2 8 131k EE®G) hE 3,39.49
N ry Wb B/
3 1 2185 =& @) INE 3,42.00
Y43 EALN -4
4 3 1301FiR BAERG) /M 3,43.59
A0 19409 B/
5 4 40 HF wE@4) hF 3,44.00
7Y Y9y EALN -4
6 2 47 MY F|H (D) IhF 4,04. 80
vy /Y3 EAN U-4
70 5] 107 HEHEA 4) INE 4,14. 86
17 Yeb mtkdLlE 957
6| 114 2 1L# (6) INE
NrragE EdtiELY57 Ri5
9 129 k#* R#t(®)
Th 4 bEF FE/D Ri5

[(RES

[1B28H

113:01]




I-7"2ih65F F

B3 TA28H | 9:00]
=
ENE Bk
R
IEGL| 54 Fon - K % g4 -1- -2- -3- -4~ -5- —6- 08k =
1 1 43 4535 EF (5) INE 3.4 3.78 3.85 3.85
MY F LA A EALN -4 +0.3 | +1.0 ] +0.3 +0.3
—7°
1-7"21p6FF B 7A288 __10.30]
=
ENE Bk
e
IBEGL] B4 Fon - K % g4 -1- -2- -3- -4~ -5- —6- 08k =
1 3 121 ;5% #5h (6) N 3.77 3.53 3. 65 3.71
%3/ 1tno ZAAC +0.4 | +0.3 | +0.9 +0. 4
2 2 122 5K & (6) N 3.29 3.25 3.05 3.29
TH¥ 155 ZRAAC +0.2 | +1.4 | +0.4 +0. 2
3 1 6 TER #(6) =2 X 2.88 3.19 3.19
YIng  hib T8FEAF +0. 1 +1.4 +1.4




	表紙
	決勝記録一覧表
	4小100
	5小100
	6小100
	1000
	80H
	小400R
	中100
	中400
	中1500
	中110H
	100
	400
	110H
	1500
	小4LJ
	小5LJ
	小6LJ
	中HJ
	中LJ
	中SP
	中JT
	HJ
	LJ
	SP
	DT
	JT
	ｏｐ100
	op80H
	ｏｐ1000
	ｏｐ小LJ

